H|||ﬂ)‘m\|ﬂ|!w!ﬂ|1|m|‘| Altivar 320 IP6x TS e

VW3A9536

VW3A9535 VW3A9536

mnil mg'
N D)
= = 2 2 R

x4 x2  M4x4 M5x3 x3  x2 M4x3 M4x2 M5x3

A A DANGER

HAZARD OF ELECTRIC SHOCK, EXPLOSION, OR ARC FLASH

* Only appropriately trained persons who are familiar with and fully understand the contents of the
present manual and all other pertinent product documentation and who have received all

necessary training to recognize and avoid hazards involved are authorized to work on and with
this equipment.

« Installation, adjustment, repair, and maintenance must be performed by qualified personnel.

« Verify compliance with all local and national electrical code requirements as well as all other
applicable regulations with respect to grounding of all equipment.

« Before performing work and/or applying voltage on the equipment, follow the instructions given
in the appropriate installation manual.

Failure to follow these instructions will result in death or serious injury.

A CAUTION

SHARP EDGES

Use all necessary personal protective equipment (PPE) such as gloves when
?@ performing any type of work whatsoever on or with this product.

Failure to follow these instructions can result in injury or equipment damage.

Electrical equipment should be installed, operated, serviced, and maintained only by qualified personnel.

No responsibility is assumed by Schneider Electric for any consequences arising out of the use of this product.
© 2024 Schneider Electric. All Rights Reserved.

PHA63342-01 1/4 Schneider
06/2024

ﬁEIectric



I

/| /3

in.

0.98

0.94

mm

25

24

in.

2.60

3.66

m

66

93

in.

.78

5.90

mm

96

150

VW3A9535

VW3A9536

|

M5 @) 2.6 N'm (23 Ibf.in)

Wwww.se.com

2/4

PHAG3342-01



VW3A9535

e

Crv—

M4 @ 1.3 N-m (1151bf.in)
M5 @) 2.6 N'm (23 Ibf.in)

1-@

2-R/L1 S/L2 T/L3
3-PB PO

4-R1A R1B R1C
5-U/T1 VIT2 WI/T3
6-1/0

MANUFACTURER
Schneider Electric Industries SAS

35 rue Joseph Monier
Rueil Malmaison 92500 France

UK REPRESENTATIVE
Schneider Electric Limited
Stafford Park 5

Telford, TF3 3BL United Kingdom

Moxanyncrta, o6paTuUTech kK COOBLLEHMIO O

npeo6pasosatene Yactotbl EAC /

nporpaMMHOM capTepe B NPUMNOXEHUN K
Hauany paboTbl,pa3meLLEeHHOM Ha BeG-caiiTe
npousBoauTens.

[ H [ Onuwmsa ana npogykTtos Altivar u Altistart.

ABTOpPK30BaHHbIN NOCTaBLUMK B Pecnybrvke KasaxcTtaH:

TOO «lWHengep AnexkTpuk»

Appec: 050010, PK, r. Anmartbl, np. JocTbik, 38,
6usHec-LeHTp «KeH danax, 5 atax, NeBoe Kpbino.
Ten.: +7 (727) 339 23 57

Homep cnyx6bl NoaaepKKkv KINMeHTOB:

Ten.: +7 (727) 339 24 52

Altivar xaHe Altistart eHimiHe apHanfFaH onuus.
OHaipyLWiHiH Be6-canTbiHAa opHanacTbIpbInFaH
«XKyMbicka kipicy» KocbiMLwackiHaarel EAC xuinik nHBeptep
/ GipkanbInTbl icke KOCY KypbInFbiCbl xabapnamachkiHa
cinTeme xacayblHbl3abl CypanMbI3.

KasakctaH Pecny6nukacbiHOaFbl YoKineTTi )eTKi3yLui:
XKUWC «LHengep dnekTpuk»

MekeH-xawibl: 050010, KP, Anmatbl kanacsl, [oCTbIK
OaHrbinel, 38, «KeH gana» 6usHec optanbifbl, 5-kabar, con
KaHarT.

Ten.: +7 (727) 339 23 57

KnueHTTepre Kbl3aMeT kepceTy HeMipi:

Ten.: +7 (727) 339 24 52

PHAG3342-01

3/4 www.se.com




VW3A9536

&) s
M4 @ 1.3 N-m (1151bf.in)

M5 @ 2.6 N'm (23 Ibf.in)
L
'
=
(]
i
)@
oofo
S
M5
NS
2
@» @p

1-@

2-R/L1 S/L2 T/L3
3-PB PO

4-R1A R1B R1C
5-U/T1 VIT2 W/T3
6-1/0

PHA63342-01 4/4 WWW.Se.com



	PHA63342_01_p1
	PHA63342_01_p2
	PHA63342_01_p3
	PHA63342_01_p4



